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6 E | EW 3NE4 630 3NW4 630 EW550 -2 2
7 S |Both 3SN-1 100 4SN-2 200 100 3 EW130 1 2
8 W |None| 2HN3 140 2HN2 110 30 1 NS210 -2 3
a3 IMP| 9 (15 A7 | 7
) 2 Y ~ 0 (¥4
B 7 2 1 8 TERLENLK
* B IMP 9 15
£ 3 IMP 9 15 p
2 HVP 7.58 12.42
5t




1

112£#F <2 2RpERFHL =RR2 | 1

NS s=mxm %R (R0)

EW #H% mze(F0

9 |Table 5

10 NS =22 ®43(F0
EW + %4 F51#(R0)

B# | DL | & Py k] MWEE E& 3 R% R A~ COP Datum
1
i txz 2% | NS | EW | 29223 | NS | EW | #9 | #10 | #9 [#10{ #9 [#10 || Mean NS EW
1 N |None 4S5S4 420 3NN-2 100 520 11 NS350 2 10
2 E NS 4HW5 450 4HW5 450 EW450
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4 W |Both 2HW-2 200 1NW-1 100 100 3 NS160 1 2
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2 E NS 4SXS-2 500 4HE4 420 80 2 EW450 -2 -1
3 S | EW 5HXS-3 500 4SW4 620 120 3 EW290 -5 8
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